AADFE XEEROHICEY, ETOFERRE->TEVERA, TR DENHIEIFIASICTHEROLET,

B[ &h &%= 1 | 2] 3 4] 5]6 BRI EREES
7 1% FEIRAERI
24
A 3%
145
i 25
PN 35
15
3 e
7K 3%
" 145 FEIRRER
2% AR EMBH2-SFEEER
X 35
5 14 [BA6[{TE|17E AR @ | @ |[AZFEX

x| x| x| 2% [BA6[{7E[17E AR @ | @ |thEX/FHERX AZXRURFTHEDYRETRTT .

% 3% [BAG6/{TH|17HE|AR @ | @ BRI(&L11:508CHYFET,
14

i 25 BENZEREEH~150

o 3%
15

7 e

=] 34

3 1% [BA6| T E 18| 15 AR @ |BFAEO2EO 1 EDIFE HFREES

Ft| x| x [ 2% [BA6|f7E[175|17E AR @ |[OFKERX RYDERT 1425 TLTH14:40
A 3% |BA6|1TE|1TE|1TE(AA6 @ PRFEELR 14:30~15:00
9 1% |BA1|BAS5|BA5 BA6BA5| @ |[BMRERES BEIRO

#| x| S [2% [BA1[BA5|BAS|BA6[BAS| @ |Q@ERSASH
W 3% |[BA1|BAS5/BAS5 BA6/BA5 @ IBYDESHR T14:25 TLTH14:40
10 1% |Bsk1|B7k3[B7K4| BK5 B2 BeR Bz 1440~RR B R2EY)

% | x| x [ 24 |Bski1|Bsk3|BK4|BK5|BL£1 IBRYDEHRT14:25 TLTH14:40
7k 3% |Bsk1|B7k3|Bsk4|BKk5|B£1 BHEHBFEIRSEGHELNHYES,
» 14 [BAR3| & | 4 [BX4[BAS5[BAG|DEGHR

* | O| S [2% [BA3| & | & |BA4|BAS5|BA6|
S 3% [BA3| & | & [BA4|BK5| BAR6| 1 EEEESRE KB RYDELT15:25 ERFESNILT16:30
12 1% [BA1|BA2|BA3|BA4|BAS @ |FHKRABH

% | x| x|2#|BA1|BA2|BA3BA4|BA5 @ |6/RE PTARS FBRS
4 3% |[BA1|BA2[BA3[BA4|BAS5| @ SEEIE# TR CI1410FH

15
13 e
+ 3%
14
14 Yy
=] 3%
15 14 |AA1|AB2[AR3|AR4ARS] @ |EFIEESR

* | x| x| 2% |ARA1|AR2|AR3|AB4|AB5| @ RYDEHERT14:25 TLTH14:40
B 3% [AR1|AR2|AR3[AR4|ARS| @ |£E¥H (SEEMAE)ERR HEMFEEE 14:30~15:00
16 15 |AN1|AN2|B&5|B26| ANS| AKS|FRERS

* | O| S| 2% [Ak1|Ak2| Ak3| Ak4| ANS5|AkE
% 3% [ Ak Ak2|Ak3|Aka| Ak Ake] 1 A EREEN R - KB IBRYDEIRT15:25 ERESNIR T 16:30
17 148 [ AJK1]AJK2] AZK3] AZK4] AKKS FEhRZ

* | x| x |24 [Aki|Ak2| AK3| Ak4|AKS HEMH
K 3% | AJK1|AK2| AK3| A4 AKKS RYDEHRT14:25 TETFH14:40
18 14 [AK1][AKR2| AR3|AR4[ AR5 AKRG| EEFEAFZTKAAE GE EH-B-EHi)

* | O| S [ 2% [AK1|AKR2[AK3|AK4|AKS|AK6| 1 FEERER) R RER
ES 3% | AKR1|AKR2|AR3| AK4| AR5 AKS BYDEHRT15:25 ERFEENIR T16:30
19 1% [AR2[AR3|AR4[ AR5 @ | @ |BREFTRER-THEDHE BFRECL BHATEELDITESOEY

x| x| x| 2% [A%2[A®3[A%4[A%5] @ | @ |HEMEH RZ##T58TY,

& 3% [A22]A23[A%4[A%5 @ | @ BYDSET11:50 FLTFH12:05
20 1%
25
+ 3%
21 i
2% FAF AR v H—KRE (£5: FiHB)
=] 35
22 15 [AH2|AR3|AR4|ARS| & | & Eﬁ?f’&’_%@@

* | x| x [ 25 [AA2|AR3[AB4[ARS| & | & |HERHK
A 3% [AA2|AHA3|AR4|ARS| & | & |1 FEEEENA BRI JFYDEH T 15:25 FTe& TH15:40
93 14 [AKT[Ak2| AK3]AKA[ AR5 AKE

* | O| S [2%F [aki|ak2|Ax3[Aak4|Aks5|Ake|
w 3% [Ad|Ak2| Ak3[ Aka| Ak5| Ake| 1 FEEEERSE BN AR AER IBYDLRT15:25 EEEIRR T 16:30
o4 14 | AK1] A2 A7k3]Ak4] AKX RIRZE (1R)

* | X | x [ 2% [Ak1|AK2[AK3| AK4| A5 BEMRH
7K 34 | AJK1|AJk2] AZk3] Aska] A7k BYDERT1425 TLTH14:40
25 14 |AK1]|AK2[AKR3|AK4|AZ5[A6| RIRE (T RiEhH)

* | O| S [ 2% [AK1|AR2|AR3[AK4| AR5 A%Sl@@* Y SEATRA LB
PN 3% [AK1|AK2|AK3[AK4| A5 AZs| IBYDESIRT15:25 EEHNIR T 16:30
2 1% |AR1|AR2| AR3| AR4| AR5 | AKG| T L iR R 29:00~

* | O x [ 25 [a&1|aA%2|A3[A%4| AR5 AKe|ZE K
% 3% [A21|A%2|A%3[A24| AR5 AKSG IBYDEHR T 15:25 ERHENIR T 16:30
27 15

2%
o 3%
1%
28 Pyt
B 3%
14
il 2% BAIn E
A 35
30 14 [B:A1]Bk2| B3| BX4[BA5[BKE

* | O| S| 2% [Bk1]|B:k2|BX3|Bk4|BA5|BAS

PY% 3% [B:X1|Bk2| B3| BX4|BAS5|BASG IBYDEHR T 15:25 ERHENIR T 16:30

EREERT 16:30 Z2THK 16:45 BEAH

16H




